MEMORANDUM

TO: NWABSD Board of Education DATE: September 18, 2025

Members

NUMBER: 26-032

FR: Office of the Superintendent SUBJECT: Approval of purchase for

security camera system

from Verkada

ABSTRACT:

Board approval is required for purchases that exceed \$50,000. The administration requests School Board approval to purchase Verkada security camera system for the STAR Dormitory, ATC Dormitory, and ATC building for the amount of \$84,282.86

ISSUE:

At issue is the approval of a purchase of a Verkada security camera system for the ATC building and adult and student dormitory that exceeds \$50,000 and requires Board approval.

BACKGROUND AND/OR PERTINENT INFORMATION:

The camera system at the ATC building and both dormitories is outdated, of poor quality, and not user-friendly. This new Verkada security system will provide an IP-based system for staff to monitor buildings 24 hours a day. This system comes with vape sensors for the ATC building and the STAR dormitory. Verkada also comes with a 10-year camera license and capacity increase.

Funding: Grants: TVEP and Residential (STAR)

ALTERNATIVES:

- 1. Approve the Verkada security camera system for ATC, STAR Dorms, and ATC Adult Dorms not to exceed \$84,282.86 as presented;
- 2. Disapprove the purchase of the Verkada security camera system not to exceed \$50,000 with Verkada;
- 3. Take no final action.

ADMINISTRATION'S RECOMMENDATION:

The administration recommends the Board approve the purchase of the Verkada security camera system, not to exceed \$84,282.86 as presented.



ATC Adult Dorms

Pricing Proposal

Quotation #: 26656328 Created On: 9/18/2025 Valid Until: 9/30/2025

AK-Northwest Arctic School District

Executive

Amy Eakin

744 Third Street Kotzebue, AK 99752 United States

Phone: (907) 442-1800

Fax:

Email: aeakin@nwarctic.org

Jeremy Roach

300 Davidson Avenue Somerset, NJ 08873 Phone: +17325648530

Fax:

Email: jeremy_roach@shi.com

PubSec Inside Account

Product	Qty	Your Price	Total
CD43-E Outdoor Dome Camera, 256GB, 30 Days Max Verkada - Part#: CD43-256E-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	2	\$779.40	\$1,558.80
Camera Weather Shield Verkada - Part#: ACC-CAM-SHIELD-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	2	\$52.90	\$105.80
CM42 Indoor Mini Dome Camera, 256GB, 30 Days Max Verkada - Part#: CM42-256-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	4	\$454.40	\$1,817.60
CF83-E Outdoor Fisheye Camera, 512GB, 30 Days Max Verkada - Part#: CF83-512E-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$1,169.40	\$1,169.40
Corner Mount Verkada - Part#: ACC-MNT-CORNER-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$129.40	\$129.40
Arm Mount Verkada - Part#: ACC-MNT-ARM-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHi	1	\$64.40	\$64.40
Umbrella Pendant Cap Mount Verkada - Part#: ACC-MNT-UPEND-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$51.40	\$51.40

8 10-Year Camera License, Capacity Increase

Verkada - Part#: LIC-CAM-10Y-CAP

Contract Name: Sourcewell-Technology Products & Solutions

Contract #: 121923-SHI

Coverage Term: 10/1/2025 - 9/20/2035

Subtotal

\$1,169.40

7

\$13,082.60

\$8,185.80

Shipping

\$200.41

Total

\$13,283.01

Additional Comments

Due to the potential impact of any current or future tariffs, the price and availability of hardware items on this quote may be subject to change.

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date listed above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order. For any additional information including Hardware, Software and Services Contracts, please contact an SHI Inside Sales Representative at (888) 744-4084. SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date set above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order.

SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.



STAR Student Dorms

Pricing Proposal Quotation #: 26658606 Created On: 9/19/2025 Valid Until: 10/13/2025

AK-Northwest Arctic School District

PubSec Inside Account Executive

Amy Eakin

744 Third Street Kotzebue, AK 99752 United States

Phone: (907) 442-1800

Fax:

Email: aeakin@nwarctic.org

Jeremy Roach

300 Davidson Avenue Somerset, NJ 08873 Phone: +17325648530

Fax:

Email: jeremy_roach@shi.com

All Prices are in US Dollar (USD)

Product	Qty	Your Price	Total
CF83-E Outdoor Fisheye Camera, 512GB, 30 Days Max Verkada - Part#: CF83-512E-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$1,169.40	\$1,169.40
Arm Mount Verkada - Part#: ACC-MNT-ARM-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$64.40	\$64.40
Umbrella Pendant Cap Mount Verkada - Part#: ACC-MNT-UPEND-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$51.40	\$51.40
CD43-E Outdoor Dome Camera, 256GB, 30 Days Max Verkada - Part#: CD43-256E-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$779.40	\$779.40
Camera Weather Shield Verkada - Part#: ACC-CAM-SHIELD-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	1	\$52.90	\$52.90
CM42 Indoor Mini Dome Camera, 256GB, 30 Days Max Verkada - Part#: CM42-256-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	6	\$454.40	\$2,726.40
SV23 Environmental Sensor Verkada - Part#: SV23-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	4	\$649.40	\$2,597.60

8 10-Year Camera License, Capacity Increase 8 \$1,169.40 \$9.355.20 Verkada - Part#: LIC-CAM-10Y-CAP Contract Name: Sourcewell-Technology Products & Solutions Contract #: 121923-SHI Coverage Term: 10/1/2025 - 9/20/2035 Note: ESD 9 10-Year SV License, Capacity Increase 4 \$749.70 \$2,998.80 Verkada - Part#: LIC-SV-10Y-CAP Contract Name: Sourcewell-Technology Products & Solutions Contract #: 121923-SHI Coverage Term: 10/1/2025 - 9/20/2035

Note: ESD

10 Comer Mount
Verkada - Part#: ACC-MNT-CORNER-1

Contract Name: Sourcewell-Technology Products & Solutions

Contract #: 121923-SHI

 Subtotal
 \$19,924.90

 Shipping
 \$275.33

 Total
 \$20,200.23

\$129.40

\$129.40

1

Additional Comments

Due to the potential impact of any current or future tariffs, the price and availability of hardware items on this quote may be subject to change.

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date listed above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order. For any additional information including Hardware, Software and Services Contracts, please contact an SHI Inside Sales Representative at (888) 744-4084. SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date set above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order.

SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.



ATC Building

Pricing Proposal
Quotation #: 26632141
Created On: Sep-12-2025
Valid Until: Oct-10-2025

AK-Northwest Arctic School District

PubSec Inside Account Executive

Amy Eakin

744 Third Street Kotzebue, AK 99752 United States

Phone: (907) 442-1800

Fax:

Email: aeakin@nwarctic.org

Jeremy Roach

300 Davidson Avenue Somerset, NJ 08873 Phone: +17325648530

ax:

Email: jeremy_roach@shi.com

All Prices are in US Dollar (USD)

Product	Qty	Your Price	Total
CM42 Indoor Mini Dome Camera, 256GB, 30 Days Max Verkada - Part#: CM42-256-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	13	\$454.35	\$5,906.55
SV23 Environmental Sensor Verkada - Part#: SV23-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	5	\$649.35	\$3,246.75
Camera Weather Shield Verkada - Part#: ACC-CAM-SHIELD-1 Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	11	\$52.89	\$581.79
CD43-E Outdoor Dome Camera, 256GB, 30 Days Max Verkada - Par#: CD43-256E-HW Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	11	\$779.35	\$8,572.85
10-Year Camera License, Capacity Increase Verkada - Part#: LIC-CAM-10Y-CAP Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	24	\$1,169.35	\$28,064.40
10-Year SV License, Capacity Increase Verkada - Part#: LIC-SV-10Y-CAP Contract Name: Sourcewell- Technology Products & Solutions Contract #: 121923-SHI	5	\$749.62	\$3,748.10
		Subtotal Shipping *Tax Total	\$50,120.44 \$679.18 \$0.00 \$50,799.62

*Tax is estimated. Invoice will include the full and final tax due.

Additional Comments

Due to the potential impact of any current or future tariffs, the price and availability of hardware items on this quote may be subject to change.

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date listed above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order. For any additional information including Hardware, Software and Services Contracts, please contact an SHI Inside Sales Representative at (888) 744-4084. SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

Thank you for choosing SHI International Corp! The pricing offered on this quote proposal is valid through the expiration date set above. To ensure the best level of service, please provide End User Name, Phone Number, Email Address and applicable Contract Number when submitting a Purchase Order.

SHI International Corp. is 100% Minority Owned, Woman Owned Business. TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.